£a7 SRS REBPELY WLERE - F

B 5L

R

+ R

e

A

>8]

bEER LA

T

1 Ib= = 130102 = B ﬁr%i: TRER-BR | (BFETL2 R ¢ O,
- K)
2 | 202 28202 ¢ | B LR - = iR

(B 229 ) 2R A

BB B

6

i R N R T (# #3205 o
¢ | sae fao0nc | |, ne Ty | o g ) R
5 P LR PAS =2 ﬁ%ljf) 2R R R PNI W
6 | 82 [11602¢ | & <§ﬁ;§ﬁ) - CERp s
7 R 2 N ’f”;;ﬁ";% ( ﬁ’l’%;zgi ﬁfﬁ) AR
8§ | 82 |5662c | E’;i Mi’f;f? £4R é}; i T
o | 82¢ |13902¢| ﬁ”;i Mﬁ;;if? (f’fﬁfﬁ) e
N R L ;’ggﬁ : f’ﬁiﬁf e
no|sac |emac | owe | ommnge | UEERE v
2 | 82¢ [11302¢| ﬁ‘il:; f) 15 B J N
13 | 82 |3932¢ | w f’ﬁiﬁf (fj—%iii) -
14 | 82¢ |16702¢ | @ RERTS TSR

ik iz ;'~’-I<'7}%




